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8-108. See below:

a. No; by observation, a curved regression line may be better. See scatterplot below.
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b. Exponential. The growth is similar to the flu outbreak in Chapter 1 (Lesson 1.1.2).

c.m=8.187 - 1.338% where m is the percentage of mold and d is the number of days. Hannah
predicted the mold covered 20% of a sandwich on Wednesday. Hannah measured to the nearest

percent.
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8-109. 18 + v/34 ++/82 ~32.886 units
8110, See below:

a. false

b. true

c. true

d. true
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8-111. y = (0.5
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8-113. Relationships used will vary, but may include alternate interior angles, Triangle Angle Sum
Theorem, etc.; a=26° b=65°, ¢=26°, d=117°
8-114. See below: e

a. Lety = youngest child, y + (y + 5) + 2y = 57; The children are 13, 18, and 26 years

b. Let x = months, y = insects, y = 2x + 105, = 175 — 3x; 14 months

c. Letx = amount paid, & = £ $4.80

d. Let a = # adult tickets, s = # student tickets, 35 + 5a = 1770, s = a + 30; 210 adult and 240
student
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8-112. See below:
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